[image: image1.jpg]11. (1) Consider two objects whose position vectors are given by 7
and 7 and whose momenta are given by pj = mivy and
2 = maty, respectively (Fig. 10-33). Show that in the special
case that the center of mass of the two bodies is at rest at the ori-
gin (thatis, P = py + i = 0, and the position of the center of
mass is B = 0), the sum of the angular momenta of the two ob-
jects about the center of mass equals the angular momentur of
single object of mass = myma/(my + m3), rotating in circu-
lar motion about the origin at a distance r = r, — ;. The quan-
ity p is called the reduced mass. [Hint: Tntroduce 7 = 7 = 7.
and express p in terms of d7/dt.]

A pulley system is used to lift a heavy mass. How much
must be applied to lift the object in Fig. 10-36 at a steady
2 Neglect friction at the axle.
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5. A man of mass 95kg is dancing with his wife, who has a mass of 68kg. Assume that each person’s mass is concentrated at their respective centers of mass, which are separated by 48cm. 
a. What is the gravitational attraction between them?
b. Which person has the greater gravitational attraction toward the other?
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24. A Pulley system is used to lift a heavy mass. How much force must be applied to lift the object in Fig. 10-36 at a steady speed? Neglect friction at the axle.








